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THOUGHT OF THE DAY

-

We are what our thoughts
have made us; So always
kKeep in
mind what vou think.

- Swami Vivekananda




STUDENT’S CORNER

_ Aishika Ghosh 4 hours ago

Mishtha Shukla 4 hours ago ]
¥ NO ERROR
Homework Answer
Options E e ' CF Reply
Thanku so much bhaiya g oa W
I‘ 1 ‘r-;ﬂ Reply F"t Twinklr Gupta 4 hours ago
Ans is. No error
Muskan Rai 6 hours ago
- e ' GH Reply

AMSWER = NO ERROR
THANKU SIR
s ' 5P Reply

Tanu Jain 1 hour ago

i—ﬁ Homework Ans is opt e
e ' CH Reply

Kajal singhal 5 hours ago

Home work ans option c

e 'GP Repy
abhay singh 4 hours ago

‘ Answer e option




WORD OF THE DAY

DETENTION

(NOUN): (sh€): custody

Synonyms: imprisonment,

confinement
Antonyms: relinquishment
Example Sentence:

The fifteen people arrested were still

in police detention.



WORD OF THE DAY IMAGE




PHRASE REPLACEMENT




Direction: Which of the phrases i, ii, ili, and iv given
below each statement should replace the phrase
printed in bold in the sentence to make it
grammatically or structurally correct? Please note

that more than one phrase can be correct so mark

accordingly.



i. broke two years ago up.
il. broke up two years ago.
ili. broke up ago two years.

iv. broke two years up ago.

Option B
Explanation: The verb and adverb
elements which make up intransitive

phrasal verbs are never separated

We broke two years ago up.

A) Only i
B) Only ii
C) Only iii
D) Only iv

E) All are correct



2. I decided to throw my out old jean.
i. throw my out old jean.
il. throw it out.

iii. throw my old jean out.

iv. throw out my old jean.

A) Both i and ii
B) Both ii and iv

Option D
C) None of these :

Explanation: some verbs are
D) All i, iii, iv transitive, which means they have a
E) All are correct direct object. When such verbs

appear as phrasal verbs, an object

can either separate the phrase or

follow it.



3. My son loves to sleep late. I got him on time up
to catch the bus this morning.
i. got up on him on time to catch the bus
il. got him on time to catch the bus up
ili. got off him on time to catch the bus
iv. got him up on time to catch the bus

A) Only i

B) Only ii

C) Only iii

D) Only iv

E) All are correct

Option D




4. They pulled down the horse.
i. down the horse.
il. the horse down.
ili. the down horse.
iv. it down.
A) Both i and iv
B) Both i and ii
C) All i, ii, iv
D) All i, ii, iii

E) All are correct

Option C




S. I threw the headphones away.
i. the headphones away
il. away the headphones
iii. away it
iv. it away
A) Only ii
B) All |, il. iv
C) All except iii
D) Both B and C

E) All are correct

Option D




Before the test, let’s go the topic over of phrasal verbs.
i. the topic over of phrasal verbs
ii. the topic over of phrasal verbs
ili. over the topic of phrasal verbs
iv. over it.

A) Only i

B) Only iii
C) All i, iii, iv
D) Only iv

E) All are correct

Option B




7. She’s very friendly and extroverted — she takes
after her mother.
i. after her mother
il. her mother after
ili. her after
iv. her atter mother
A) Only i
B) Only iii
C) Both i and iii
D) None of these

E) All are correct

Option A




8. Popular songs seem to catch on in California first and
then spread eastward.

i. on in California first and then spread eastward

il. on that in California first and then spread eastward
ili. on there in California first and then spread eastward
iv. on California first and then spread eastward

A) Both i and ii
B) Both i and iii
C) Both iand iv
D) Only i

E) All are correct

Option C



9.That cannot be true. You must be putting me
on.

i. me on.
il. on me.
ili. on.

iv. it on.
A) Only i
B) Only ii
C) Only iii
D) Only iv

Option A




10.He tried to keep on singing long after his voice was
ruined.

i. on it long after his voice was ruined.

il. on sing a song long after his voice was ruined.

ili. on do the singing long after his voice was ruined.
iv. on singing long after his voice was ruined.

A) Only i

B) Both i and iv
C) Only iv

D) All i, ii, iv

E) All are correct

Option C



ERROR DETECTION
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I 1 PREVIOUS YEAR QUESTIONS

11. a) In fact, the human civilization is / b)

the history of man’s growth / ¢) control
over / d) the sources of energy. / e¢) No

error

Explanation: Replace “growth“

with “growing“

Answer is: b)



12. Despite that, some commentators say that the
U.S.-China (a)/ agreement has shift the focus to
(b)/ developing countries, especially India, (c)/
which is the fourth largest emitter. (d)/ No

error. (e)

b) Replace ‘shift’ with ‘shifted’




FILL IN THE BLANKS




13. Most such events have one or more

components that not related

to climate change.

1. is

2. was

3. will

4. are

S. have
Option D

Here, ‘are’ will agree according

to ‘components'(plural).




14. Ocean acidification harms a variety of

organisms.
1. mariner
2. sea
3. oceanic
4. marine
5. lived
Option D

Marine- connected with sea and

the creatures that live there.




15. Amrita was an evil mother who wanted to

get of her step-daughter.
1. freed
2. relieve
3. rid
4. lost
S. clear

Option C
Get rid of- To make yourself free
of somebody/something that is

annoying you.



HOME WORK

The government has up the

issue of mergers among public sector

banks after a long gap.

A. raking
B. ranked
C. raked
D. raised
E. made




While speaking to (A) / the students, the
motivational speaker (B) / advised them not to
(C) / brood under failures. (D) / No Error (E)







